Tema: Cuaa Jlopenua.

Ne | Pagmyc | MaruuTHas 3apsan Cxopoctb Yroa Cuua Jlopenna
HHIYKIHSA MeEKIY
Bul
1 ? 0,2Tn DJEKTPOH 1,1 Mwm/c 30° ?
2 ? ? I[IpoTon 1,3 Mwm/c 60° 0,3-10712(H)
3 ? 0,5 Tn IIpoTon ? 90" 0,2-1072(H)
4 ? ? DIEKTPOH 3 Mm/c 45° 0,4-10712(H)
5 ? 0,4 Tn [Iporon 5 Mwm/c 90° ?
6 ? 0,7 Tn DIEKTPOH ? 90° 1,4- 1072 (H)
7 ? ? IIpoton 1,6 Mm/c 45" 0,1-1072(H)
8 ? 0,9 Tn [Tporon 1,8 Mm/c 30° ?
9 ? ? DJIeKTpOH 1,4 Mwm/c 60° 0,3-10712(H)
10 ? 0,1 Tn [Tporon ? 459 0,4-10712(H)
11 ? 0,6 Tn DIeKTpOH 1,3 Mwm/c 90° ?
12 ? ? [Iporon 1,9 Mm/c 60° 1,2-1072(H)
13 ? 0,2 Tn [Ipoton ? 30° 0,2-10712(H)
14 ? 0,5Tn DneKTpoH 1 Mwm/c 45° ?
15 ? 0,3 Tn [Ipoton ? 60° 0,4-10712(H)
16 ? 0,2 Tn DneKTpoH 0,7 Mwm/c 30° ?




